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A 3E2SA
MY ¥ESM2Y
S AYEES = (9 ® =)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OUSB Sotate|AlAE 22 RAExH|
36,000,000& * 10% 3,600
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5,000,000& * 14! 5,000
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7,000,000& = 14! 7,000
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82,500,000& * 10% 8,250
OAtoIHEeh JEh o HAFHINE 28 &
60,000,000 * 14l 60,000
OMS-SQL =2 ¢ 10,000,000& = 14l 10,000
FEANLAE X2l 345,000 277,079 67,921
201 Let24d] 290,000 277,079 12,921
02 =224l 290,000 277,079 12,921
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290,000,000& * 14 290,000
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-HBHERY 228 Y
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Al 1,400
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= 900
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207 Ao 2| 8,280 8,280 0
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< 1,500
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< 11,076
Al 16,576
307 glz2tol & 32,932 32,932 0
= 5,280
< 11,076
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- M&H| 2,750,000& * 29 5,500
23 XA 63,016 62,716 300
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01 At 22l 37,000 37,000 0
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01 At 2t 2l 2,000 2,700 A700
OHEstAY Jl=He Botelg =4
100,000& = 7H « 23| 1,400
OZFEsAAS & =8
100,000& * 6H = 13l 600
202 Oddl 2,000 3,000 A 1,000
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OM= Sg23¢ SSORAE =+
6,200,000& * 15% 930
403 X SHH S0l & 101,900 109,272 NT,372
02 3|25 0l CHShCH 2 At & HI 101,900 109,272 ANT,372
O3SJIEt dA4FH X2
1,455,704,820& * 7% 101,900
MHoHERAIAE 29 26,479 24,591 1,888
= 5,587
Al 20,892
201 Zer24] 24,479 24,591 A2
= 5,587
Al 18,892
01 At 2t 2l 24,479 24,591 A112
OMH=RAAE 2= FHl 2lAz 24,479
= 5,587
Al 18,892
403 XIS E X201 H 2,000 0 2,000
02 S| 2SI CHSHHEH AH B 2,000 0 2,000
OMai=2AIAE RIE=Hl 2,000
HAZHl, S/ 2 22l 241,740 835,061 A 593,321
201 Let24d] 54,480 481,731 AN427,251
01 At 22l 54,480 481,731 NA427,251
OHEHRE 2ZEN ¢ 54,480
—-82 2014 €d 0l 160,000& * 1652 26,400
—MSL2 Il A 2013 PRO 417,000& » 102 4,170
- POFR O 18,200& * 800= 14,560
MHES20ld A 45,000& * 50= 2,250
—ARNEEE T2 110,000& » 102 1,100
-2dEX (L) 30,000& 200 6,000
207 & O & H| 6,740 5,270 1,470
02 & AR I 6,740 5,270 1,470
OPCHAAIAE S E=H]
29,600,000& * 10% 2,960
OJZBXHANAY KX E 4l
23,100,000& * 10% 2,310
OXtet22lAlAE S KIE =4I
44,100,000& * 10% * 4/12 1,470
405 XtatFE SHI 180,520 348,060 A 167,540
01 HatH ESFH S 180,520 348,060 A 167,540
OdE MLFH P2 180,520
-AHFEH(2AM) 800,000& = 160CH 128,000
-2UH 242,000& * 160CH 38,720




SN BESEMD
M NBEMN2Y
G MEAE D& (EERED
SA-ES O (BH) - ALY - HES Ol & 04 SSa HDS2
| | | —zelg 460,0002 * 30CH 13,800
£ =29 185,519 189,710 A4,191
[ 14,490
Al 171,029
SAxXE el 185,519 189,710 A4,191
[ 14,490
Al 171,029
A 22 21,750 25,400 A 3,650
201 Lty 19,950 23,600 A3,650
01 AR 22l 19,950 23,600 A 3,650
O2LTHSH A=K 22t 10,0008 * 4505 4,500
OSHAE @2t 15,0002 * 350 5,250
O#FNE M= 4,500 = 1,8000K 8,100
OSH22 L2Fa S| 2,100
202 04 Hl 1,800 1,800 0
01 201t 1,800 1,800 0
OsHZ2 28 ol 1,800
SH EA 163,769 164,310 A 541
= 14,490
Al 149,279
101 @124 34,005 36,135 ~2,130
= 2,938
Al 31,067
04 JIZHRZERERES 34,005 36,135 A2,130
OAF HI Z= AL 0121H] 24,361
— ZAZRIX 49,5409 « 1Y x 27 « 80% 11,771
- ZALRI R 2tel &
45,1902 * 4% * 272 * 80% 3,905
—QALAY 45,1909 * 8 * 242 * 80% 6,942
-4y 28 E 1,743
AR X 11,771,0008 * 10% 1,178
T AKX & 2 el & 3,905,000 * 10% 391
coE A 6,942,0008 * 2.5% 174
O2al Young Dream S H E At Q124H| 2,312
- Z Al X 49,5402 * 1 *» 9 446
—gEA 45,1909 * 8% * 5 1,808
-4 BEE 58
- AT 446,0009 * 2.5% 12
LA 1,808,0009! * 2.5% 46
OB ALSIE AL Q124 6,589
— EAFRERI R} 49,5402 * 3Y * 252 3,716
= 1,239
Al 2,477
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-—dsaudd 45,1903 * 108 » 6 2,712
< 1,627
Al 1,085
-4 282 161
e YNE= TN
49,5403 * 3Y » 252 * 2. 5% 93
= 31
Al 62
Qe A
45,1902 * 10Y = 6L * 2.5% 68
< 41
Al 27
OBy ZZAEIZ A Q12AHH| 743
-daEauyEA 45,1903 * 1 * 4 * 43| 724
40 282 724,000 * 2.5% 19
201 B2 | 128,764 122,975 5,789
T 11,552
Al 117,212
01 At 22| bl 128,764 122,975 5,789
O AL M = A 86,815
- XN E2E22
47,2903 * 81Y = 26& * 80% 79,675
-EAMEE 7Y 10,000& * 104 1,040
-E8d9 H& 55,000& * 2094 & 1,100
- ZAEZ ot E M= 50& = 10,000% 500
—AMNEHMEZAF EOM &2 15,0008 * 3002 4,500
OZAMELIZAI ZAI2RE 2
10,000& = 409Y 400
O& ol Young Dream S Hl X A 11,429
-IME ESx2 47,2903 * 78 « 8 2,649
—ZIANE 2 HYEsSE 25 oy
1,100& = 2,30004 2,530
— 20l Young Dream SH EZAF E0AM &2t
25,0003 * 250% 6,250
OdY A3l Z A 18,145
-ZANE EZ2xE 17,035
mE= 47,2903 * 24H x 1L 1,135
T 710
Al 425
=2 XA 11,830& * 24% = 5601+ 15,900
& 9,938
Al 5,962
- XZANEE 7Y 1,110
T 904
Al 206
OZBY ZZAUHZIA ZANE 2442 5,675
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g S 29
& SAXZ 2el (&)
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
-u=s 47,2903 * 5H » 12 * 43 946
—Z2XA 47,2902 = 5H » 5 x 43 4,729
O2A& SAHZAM =& S AHI 2,000
OSHXHEE 2l 4,300
- =SAEX 20,000 » 90=t A 1,800
-ZTgH EH 200,000& = 54 1,000
-AT ALE 250,000& * 63 1,500
202 (44l 1,000 1,800 A 800
01 = LH 4 4l 1,000 1,800 A 800
OSHZEZAL SEXIAA EF0YI 1,000
HE2IAZH(BESAD) 63,430 120,138 A56,708
Jl23&dl 63,430 96,858 A 33,428
JlE2&l 63,430 96,858 N 33,428
201 Let24E] 19,150 28,098 A 8,948
01 At 22l 19,150 28,098 A 8,948
Oget=&H| 12,556
-Jlg ARESHI 6,561
- JIEt =&H| 2,187
-dHZelH EU4(HP5500dn)
200,000 = 44 « 23| 1,600
-T2l EU 184,000& =« 4CH = 33l 2,208
OO0t & 52 22X S4ldl 6,594
202 44l 38,880 63,360 A 24,480
01 204l 38,880 63,360 24,480
OJle gRF&0l 38,880
203 YR =&l 4,200 4,200 0
04 FEN2ELRZ=TH 4,200 4,200 0
ORM2IYRFLHI 350,000& = 12& 4,200
204 MR AH| 1,200 1,200 0
01 Mg 1,200 1,200 0
Ot AxMg HRFAH| 100,000& * 12& 1,200




